MULTIPLICATION WORD PROBLEMS

1. A box of pencils costs 6

dollars. Liam buys 4 boxes.
How much does he pay
in total?

Equation:

Answer:

. Sofia swims 20 laps each
day, How many laps does
she swim in 5 days?

Equation:

Answer:

. A pizza has 8 slices.

If there are 3 pizzas,

how many slices are there
in total?

Equation:

Answer:

. Tickets to a soccer game
cost 8 dollars each.

If Marco buys 5 tickets,
how much does he spend?

Equation:

Answer:

4.

5.

7.

8.

Lucas buys 6 packs

of baseball cards. Each
pack has 12 cards. How
many cards does he
have altogether?

Equation:

Answer:

Alyssa makes 7 bracelets.
Each bracelet has 9 beads.
How many beads does

she use in all?

Equation:

Answer:

Tickets to a soccer game
cost 8 dollars each. If
Marco buys 5 tickets, how
much does he spend?

Equation:

Answer:

A bag of apples weighs 3
pounds. Sarah buys 6 bags.
How many pounds do
the bags weigh in all?

Equation:

Answer:




